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3HPHWDDQ�SDGDQJ�ODPXQ�EHUWXMXDQ�XQWXN�PHOLKDW�SHUXEDKDQ�\DQJ�WHUMDGL�
GDUL�WDKXQ������NH�WDKXQ������GDQ�MXJD�PHPEDQGLQJNDQ�WLQJNDW�DNXUDVL�PHWRGH�
LQWHUSUHWDVL�FLWUD�WHUKDGDS�REMHN�SDGDQJ�ODPXQ��0HWRGH�\DQJ�GLJXQDNDQ�XQWXN�
PHQGHWHNVL� SDGDQJ� ODPXQ� DGDODK� PHWRGH� NODVLILNDVL� VXSHUYLVHG� GDQ� PHWRGH�
ORJDULWPD�O\]HQJD��0HWRGH�NODVLILNDVL�VXSHUYLVHG�PHQJJXQDNDQ�NHSHNDDQ�QLODL�
VSHNWUDO� VHWLDS� SLNVHO� WHUKDGDS� REMHN� SDGDQJ� ODPXQ� GDQ� PHWRGH� ORJDUWLPD�
O\]HQJD�PHQJJXQDNDQ� NRHILVLHQ� DWHQXDVL� \DQJ� EHUEDVLV� SDGD� SHQDMDPDQ� QLODL�
VSHNWUDO�SLNVHO�KLQJJD�NHGDODPDQ�WHUWHQWX�XQWXN�PHQLQJNDWNDQ�QLODL�SDQWXO�REMHN�
SDGDQJ�ODPXQ��+DVLO�LQWHUSUHWDVL�PHQXQMXNNDQ�WHUMDGL�SHUXEDKDQ�\DQJ�VLJQLILNDQ�
SDGD�OXDVDQ�SDGDQJ�ODPXQ�GDUL�WDKXQ������NH������GDQ������NH�������0HWRGH�
NODVLILNDVL�VXSHUYLVHGPHQGHWHNVL�WHUMDGL�SHQXUXQDQ�OXDV�GDUL�WDKXQ������NH������
VHEDQ\DN�������+D�0HWRGH�ORJDULWPD�O\]HQJD�PHQGHWHNVL�SHUXEDKDQ�\DQJ�VDPD�
QDPXQ� GHQJDQ� WHNQLN� \DQJ� EHUEHGD� KLQJJD� WHULGHQWLILNDVL� WHUMDGL� SHQXUXQDQ�
OXDVDQ�SDGDQJ�ODPXQ�GDUL� WDKXQ������NH������VHOXDV������+D��.HGXD�PHWRGH�
\DQJ� GLJXQDNDQ� PHPLOLNL� SHUEHGDDQ� GDODP� WLQJNDW� NHDNXUDVLDQ�� PHWRGH�
NODVLILNDVL� VXSHUYLVHG� PHPLOLNL� WLQJNDW� DNXUDVL� VHEHVDU� ������� VHGDQJNDQ�
PHWRGH� ORJDULWPD O\]HQJD� PHQXQMXNNDQ� DNXUDVL� VHEHVDU� ������� VHKLQJJD�
PHWRGH�ORJDULWPD�O\]HQJD DGDODK�PHWRGH�\DQJ�SDOLQJ�FRFRN�XQWXN�PHQGHWHNVL�
SDGDQJ�ODPXQ�GL�3DQWDL�1LUZDQD�.RWD�3DGDQJ�
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